min)

1/0 do/d(B

Ratio to OPAL

10

107t

0.5

197 Qe\{ ee

C)

m OPAL
—A— Pythia 6.428 370

v*/Z (Hadroni
L B B B

[ | ||||||| [ | ||||||| i
Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

= & Pythia 6.428 371 . —
= v Pythia 6.428 372 M =
_ -~ Pythia 6.428 376 ]
El | | | | | | | | | | | | |E
:l T T T T | T T T T T | T |:
- v =
N N A Z
R A AT B H
| \Y Ill A A H
L e A .
S~ \‘ f/ M- M

AT vy X a
L E 4 ‘N - - _|
L v _
[ ]
- |
| 1 1 1 " 1 " | 1 1 1 \I\ | " 1 1
0 0.05 0.15

N

0.5



	Contents
	Page 1


